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i Chuyén doi phan tram thanh s6 thap phan

Tén:_ Ngaythang:_ Piém:__
1.02 = % 1.89 = %
0.66 = % 1.18 = %
0.49 = % 1.77 = %
0.12 = % 0.92 = %
0.78 = % 1.8 = %
0.35= % 0.48 = %
1.78 = % 0.81 = %
0.87 = % 1.14 = %
1.08 = % 0.14 = %
1.8 = % 1.21 = %
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Y ) s :
9 -.9?\2, Q ? Chuyén doi phan tram thanh so thip phan

Tén:_ Ngaythang: __ Piém:____
1.02 = 102% 1.89 = 189%
0.66 = 66% 1.18 = 118%
0.49 = 49% 1.77 = 177%
0.12 = 12% 0.92 = 92%
0.78 = 78% 1.8 = 180%
0.35 =35% 0.48 = 48%
1.78 = 178% 0.81 = 81%
0.87 = 87% 1.14 = 114%
1.08 = 108% 0.14 = 14%
1.8 = 180% 1.21=121%
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